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() =(AA 2= A=)+ (F2 2)
=22.137 + 3 = 7.379(cm)

(9F) = (AE) x3.14

7.379 = (A§) x3.14

(AE) = 7.379 + 3.14 = 2.35( cm)
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(B2 Y] ¥tA]E) = 13 - (5% 2) = 3(cm)
(2 ¥ ¥5) =10x3.14 = 31.4(cm)
(B2 99 9F) = 6 x 3.14 = 18.84(cm)
31.4 + 18.84 = 50.24( cm)
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(A5°] 8cmdl Y] AF) =8x3.14 = 25.12(cm)
3768 3

1
25.12 = 2512 = —1-(n
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11(cm)

D11 x 11 x 3.14 = 379.94( cm?)

—
U‘.rﬂ‘.
— =
)

—

&
A,

~—

)
B oo o oo ojw

£

)
Lo




15. 97 31.4cmQl Yo HolE F5tA L

n

> HE: 78.5cm?

]S)x2 x 3.14 = 31.4( cm)
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o) A 2= 43.96+3.14+2=7
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@x3.14-ODx3 =224

@ = 2.24 + (3.14 — 3) = 16(cm)
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(129 2+ A=) =50 x 3.14 = 157(cm) = 1.57(m)
2.983(km) = 2983(m)
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188.4 + 2 = 94.2( cm)
) + (A8) = 94.2 + 30 = 3.14 (Hh)
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